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Two flies that are heterozygous for two different traits are crossed. What is
the phenotypic ratio of the progeny?

(A) 3:1 (B) 9:3:3:1
(E)=1:2:1 (D) - 171zt

A recessive allele on the X chromosome is responsible for colour blindness in
humans. A normal woman whose father is colour-blind marries a normal man.
What is the probability of their son’s with colour blindness?

(A) 50% (B) 100%
©) 75% D) 25%

Two or more factors when present together produce effects qualitatively
distinct from the separate effect of any one of them. What are these?

(A) Hypostatic factors (B) Supplementary factors
(C) Epigenetics.factors (D) Complementary factors

In which of'the following conditions ‘a allele’ is said to be epistatic
(A) It does not conceal the presence of another allele in the genotype
(B) It conceals the presence of another allele in the genotype

(C) It helps the expression of another allele in the genotype

(D) It is not expressed in heterozygous state

In a cross between ‘rose comb’ and ‘pea comb’ which of the following comb

is seen in F1
(A) Rose comb (B) Pea comb
(C) Walnut (D) Single comb
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Sex determination in Drosophila depends on

(A) X and Y chromosomes

(B) Ratio between X and Y chromosomes
(C) Ratio of number of X-chromosomes to autosomes

(D) Ratio of Y-chromosomes to autosomes

In human testis determining factor is the product of gene
(A) SRR (B) SYR
(€) SR¥ (D) SSR

Which of the following is known as Royal disease?
(A) Sicklecell anaemia

(B) Haemophilia

(C) Alzheimer’s disease

(D) Colour blindness

A man has enlarged breasts, spare hair on the body and sex complement as
XXY. He suffers from

(A) Down’s syndrome (B) Klinefelter’s syndrome
(C) Turner’s syndrome (D) Edward’s syndrome

Patau’s syndrome occurs due to

(A) Trisomy of 13t chromosome
(B) Trisomy of 18" chromosome
(C) Trisomy of 21* chromosome

(D) Trisomy of 227 chromosome

(P.T.O.)
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11) A chromosome mapping unit which is equivalent to 1% recombination offspring
is

(A) Armstrong unit (B) Centimorgan
(C) Milimorgan (D) Svedberg unit

12) A surface protein that binds extracellular DNA and enables the bacterial cell to
be transformed is known as

(A) Complimentary factor (B) Recombination factor

(C) Competence factor (D) Transforming factor

13) Which of the following genetic disorders is caused due to the absence of
homogentisate oxidase enzyme

(A) Albinism (B) Alkaptonuria

(C) Phenylketonuria (D) Tyrosinosis

14) The enzyme that splits lactose into glucose and galactose is
(A) a-galactosidase
(B) - galactosidase
(C) - galactosidase permease

(D) f- galactosidase acetylfransferase

15) Which one of the following subunits of prokaryotic RNA polymerase
holoenzyme actually does not carry out polymerization during transcription

(A) o —unit (B) [ —unit
(C) p’-unit (D) Sigma factor
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16) Each chromosome has a constriction part called
(A) Centromere (B) Chromonemata

(C) Chromatids (D) Centrioles

17) Synopsis occur during
(A) Leptotene (B) Pachytene
(C) Zygotene (D) Diakinesis

18) Lamp brush chromosomes are present in
(A) Prophase I of oogenesis in many vertebrates
(B) ProphaseI of spermatogenesis in many vertebrates
(C) Somatic cells
(D) Metaphase

19) The bead like chromatin subunits are called
(A) Kinetochore (B) Nucleosome
(C) Centrosome (D) Polysomes

20) Mitochondria in myocardial muscle cells are called
(A) Mitosomes (B) Myosomes
(C) Sarcosomes (D) Myocardial mitochondrions

21) Plastids are present in
(A) Animal cell
(B) Plantcell
(C) Both (A)and (B)
(D) Bacteria

22) The site of Oxidative phosphorylation is of mitochondria

(A) Inner membrane
(B) Matrix
(C) Outer membrane

(D) Both inner and outer membrane
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23) Polysomes refers to
(A) Group of ribosomes (B) Nucleosomes

(C) Karyosomes (D) Perisomes

24) The cell organelles responsible for autophagy are
(A) Ribosomes (B) Endoplasmic reticulum

(C) Lysosomes (D) Plasma membrane

25) Cell membrane is primarily composed of
(A) Two layers of phospholipids
(B) Only carbohydrates
(C) Only proteins
(D) Only lipids

26) Whose experiment cracked the DNA and discovered unequivocally that genetic
code is triplet?

(A) Nirenberg and Mathaei (B) Hershey and Chase
(C) Morgan and Sturtevent (D) Beadle and Tatum

27) A genetic code is a sequence of nitrogenous bases on
(A) mRNA (B) tRNA
(C) rRNA (D) DNA

28) RNA polymerase stops its activity by
(A) Rho(p) factor (B) Sigma (o) factor
(C) UAG (D) AUG

29) The enzyme necessary for transcription is

(A) DNA polymerase (B) RNA polymerase
(C) Endonuclease (D) RNA ase
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30) In adouble helical DNA structure the distance between adjacent bases is
(A) 34nm (B) 3.4nm
(C) 0.34nm (D) 0.034nm

31) Which of the following types of protein could be coded by a tumour-suppressor

gene?

(A) A protein that forms part of a growth factor signalling pathway.
(B) A protein that codes for a DNA repair enzyme.

(C) A protein that helps prevent apoptosis.

(D) A protein that controls progression through the cell cycle.

32) Which of the following is not a characteristic of a cancer cell?
(A) Replicates Jimited number of times.
(B) Grows and divides without stimulation by a growth factor.
(C) DNA damage does not halt cell division or stimulate apoptosis.

(D) Releases factors which causes nearby cells to become cancerous.

33) Whichofthe following is the best type of gene therapy to treat genetic diseases?
(A) Somatic gene therapy (B) Germ line therapy
(C) Both (A)and (B) (D) Radiation Therapy

34) The SCID patients lack
(A) T lymphocytes
(B) ADA gene
(C) Functioning of T lymphocytes and Functioning of ADA gene
(D) T lymphocytes and CFTR gene
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35) A perecentric inversion is
(A) Inversion including centromere
(B) Inversion without including centromere
(C) Inversion only in the heterochromatic region

(D) Inversion with translocation

36) is not a tumor suppressor gene
(A) myc (B) BRCA
(C) RB ' (D) NF-1

37) The transformation of normal cells into malignant conditions is called as

(A) Metaplasia
(B) Dysplasia
(C) Neoplasia
(D) Hyperplasia

38) Burkett’s lymphoma is a condition results from translocation between
(A) 8to 14 chromosome
(B) 8to18 chr‘omosome
(C) 9to 21 chromosome
(D) 9 to 22 chromosome

39) is used as chemotherapeutic agent
(A) EMS (B) MMS
(C) Arsenate (D) Vinblastin

40) The way by which proto-oncogene’s are converted into oncogenes are

(A) Pointmutation (B) Translocation
(C) Over expression of genes (D) All the above
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41)

A species inhabiting different geographical areas known as
(A) Sympatric (B) Allopatric
(C) Sibling (D) Biospecies

42) The theory of use and disuse was given by

43)

44)

45)

(A) Stebbins (B) Lamarck
(C) Auristotle (D) Darwin

is a Mendelian population.

(A) Endemic mating population
(B) Inbreeding population

(C) Cosmopolitan population
(D) Random mating population

Which of the following is not the destabilizing forces of Hardy-Weinberg
Genetic equilibrium ?

(A) Migration

(B) Mutation

(C) Natural selection

(D) Gene pool

Which of the following is the possible cause for Genetic drift?
(A) Selection (B) Gene migration
(C) Sampling error (D) Mutation

46) First hormone prepared by genetic engineering is
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(A) Oxytocin

(B) Somatotropin
(C) Adrenaline
(D) Insulin

(P.T.0.)




47) Silencing of m-RNA has been used in producing transgenic plants resistant to
(A) Ball worms (B) White rusts
(C) Nematodes (D) Bacterial Blights.

48) RNA interference involves
. (A) Synthesis of mRNA from DNA
(B) Synthesis of cDNA from RNA using reverse transcriptase.
(C) Silencing of specific mRNA due to complementary RNA
(D) Interference of RNA in synthesis of DNA.

49) Which of the following is used to make cDNA library?
(A) mRNA (B) tRNA
(C) miRNA (D) rRNA

50) Whatis gene cloning?
(A) Preparation of DNA
(B) Propagation of identical copies of the genes
(C) Production of identical animals

(D) Formation of new animals

+ + +
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